Precalculus
Review #2 Sequences & Series

1a)  Write a recursive rule for the sequence:  z, z3, z5, z7,…

1b)  Write the explicit formula for the sequence:  
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2.  Find x if it is known that 2x+1, 4x – 2 , x + 10  is arithmetic.

3.  Insert 5 geometric means between –2 and –128.

4.  In the arithmetic sequence with a9 = 3 and a16 = -15, find a4 .

5.  Write this series using sigma notation:  -9 – 2 + 5 +… + 54

6.  In a geometric sequence, a2 = 6 and a5 = 750.  Find a 7 .

7.  
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  Find S6.

8.  Given  2 + 10 + 50 + … + 31,250   Find  Sn .

9.  Change 
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 to a fraction in lowest terms.

10.  The half – life of nitrogen-13 is about 10 minutes.  That is, at the end of a 10 minute period, half of the amount present at the beginning of the period will remain.  If 6 mg are present at 3:10 p.m., how much will be present at 4:20 p.m.?

11.  A pile of logs has 1 log in the top layer, 2 in the second layer, 3 in the third, and so on.  How many logs are in the pile if it contains 20 layers?

12.  Write  4 – 4 + 4 – 4 + …  in summation notation.

13.  Find 
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14.  A farmer gathers 35 bushels of sweet potatoes on the first day of harvest.  On each successive day, the amount to be gathered will be 4 more bushels than the preceding day.  If the harvest lasts 12 days, what is the total number of bushels he can expect to collect?

15.  Write the explicit formula for 
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16.  Insert 5 arithmetic means between –2  and  22.

17.  Find 12 – 6 + 3 - … if possible.

18.  A snail moving along a straight line travels 4 inches in one hour.  In the next hour it moves 2 inches.  In each succeeding hour it travels half as far as it did the previous hour.  How far would the snail travel if he was eternal?

19.  A ball is dropped straight down from a height of  120 cm and rebounds 
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 of its preceding maximum height on each successive bounce.  How far will the ball travel before coming to rest?  

20.  Expand  (3x – 2y)5
21.  Tell whether each series is convergent or divergent.

A)  2 + 5 + 8 + 11 + …


B)  -2 + 4 -  8 + 16 - …


C)  48 + 12 + 3 + 
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Answers:

1a)  a1 = z,  an = z2( an-1



b)  an =  
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2.  x = 3

3.  –4, -8, -16, -32, -64



4.  
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5.  
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6.  a7 =  18,750




7.  S6  =  189



8.  Sn = 39,062

9.  
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10.  
[image: image12.wmf]64

3

mg



11.  210

12.  
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13.  224



14.  684

15.  
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16.  2, 6, 10, 14, 18


17.  8

18.  8 inches


19.  264 ft.

20.  243x5 – 810x4y + 1080x3y2 – 720x2y3 + 240xy4 – 32y5

21.  A)  divergent

B)  divergent

C)  convergent
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